Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 16 - Banchory and Mid Deeside

4,780

3

1,196

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Rosemary Elizabeth BRUCE	Scottish Liberal Democrats	968
Eileen DURNO	Scottish National Party (SNP)	1,046
lain GILLIES	Scottish Labour Party	241
Ann ROSS	Scottish Conservative and Unionist	2,525
	Total	4,780

Candidate Ann ROSS Elected with 2,525 votes, being in excess of the quota of 1,196

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ann ROSS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rosemary Elizabeth BRUCE	1,371	0.52633	721.59843
Transfer to Eileen DURNO	80	0.52633	42.10640
Transfer to Iain GILLIES	212	0.52633	111.58196
Transfer to Ann ROSS	0	0.00000	0.00000
Value of non-transferable ballot papers			453.71321
	Total		1 329 00000

N.B. The figures may not add due to rounding.

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Rosemary Elizabeth BRUCE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rosemary Elizabeth BRUCE	0	0.00000	0.00000
Transfer to Eileen DURNO	101	0.15376	15.52976
Transfer to Eileen DURNO	201	0.29213	58.71813
Transfer to lain GILLIES	746	0.15376	114.70496
Transfer to lain GILLIES	441	0.29213	128.82933
Transfer to Ann ROSS	0	0.00000	0.00000
Value of non-transferable ballot papers			175.81625
	Total		493.59843

N.B. The figures may not add due to rounding.

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Iain GILLIES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rosemary Elizabeth BRUCE	0	0.00000	0.00000
Transfer to Eileen DURNO	258	0.15376	39.67008
Transfer to Eileen DURNO	161	0.29213	47.03293
Transfer to Eileen DURNO	79	0.52633	41.58007
Transfer to Eileen DURNO	127	1.00000	127.00000
Transfer to Ann ROSS	0	0.00000	0.00000
Value of non-transferable ballot papers			340.83317
	Total		596.11625

N.B. The figures may not add due to rounding.